Paper 3  Use of English

Part 2

For questions 16-25, read the text below. Use the word given in capitals at the end of some of the
lines to form a word that fits in the space in the same line. There is an example at the beginning (0).

Write your answers in CAPITAL LETTERS on the separate answer sheet.

example: [0 [1][N][TI[E][LI[LI[E]C][TILlAll] I )]

L]

Science - is it only for the specialist?

There was a time when, as an educated person, you would have been expected

with the current state of art and music. You would have felt equally relaxed
discussing philosophical ideas in some (17)............ , should the subject of the
discussion have changed. This would have meant the (18)............ of issues
related to the results of scientific research.

However, as significant discoveries accumulated, it became (19)............
difficult for any one person to keep abreast of developments across the entire
field. A point was reached where the pace of progress was so great that a single
brain became completely (20)............ to absorb the wealth of information.
Scientists could no longer (21)............ switch back and forth between
disciplines as before. They became specialists.

A broadly-educated person today can still have a general (22)............ of most
of the specialisms, but not in the (23)............ detail in which research workers
are themselves immersed. Trapped inside their own special areas, the pitfall for
most research scientists is an (24)............ to communicate with those working
on areas bordering their own, let alone totally (25)............ areas.
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